[ number of missing inner layers |

[ number of missing outer layers |

1g Entries 447518 1g —| Entries 447518

3 Mean 0.04869 + | Mean 1.183

F Std Dev 0.229 . |.std Dev 1.815

A ; ; ; I ] | N S L ; I

10°E Entries 447518 10°E " Entries 447518
E Mean 0.04869 E Mean 1.183

r Std Dev 0.229 r Std Dev 1.815
2L O] I A | S PP

10 3 Entries 462619 10 3 Entries 462619

F Mean 0.04943 F Mean 1.191
o Std Dev 0.23 o Std Dev 1.808
-3 T I LETs | T T ]
10 g 10 g
o Entries 462075 o Entries 462075
r Mean 0.04946 r Mean 1.19
_ Std D 0.23 _
107 S 107
sl sl :

107 : 107 :
01()69_""!""!"""""""""""""""'!"" 01()69_""!"" II
=1 . . : = :
< I : < [ oo+,

A S : @ a4
) S N S S S S S PR U I 0 O U B O O S S
- : Lt
0.95 . 0.95 = : :
1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25
=== DOWM_origmal_originalvector_I000evt
= DQM_original_1000evt
mean hil == DQM_fitted4_1000evt
= DOM_fit_nocpe_1000evt
= 20 10°E | Entries 447518
E : | Mean 11.8
0 o 1 [ std Dev 6.788
Q 18 C : : :
N 4 ;[ Entries 447518
[7p] il A S o
E 16 10 E : 11.8
Voo14F E . 6.788
3l : 462619
12 10 E : 11.9
F : 6.784
10 C S -
21 . ] Entries 462075
8 10 E : | Mean 11.92
o F » |std Dev 6.781
6 r : E
10 HRRRE
4 E :
2 [ :
o H : H : : 1= B
pa| PERERENN EEETETEN ANETIEETEN ATAEETAN S AUETAE AT AR A E
o LW N N N N o LU N N N =T
£ : : : : = E : : :
] r : D, g G Eo R AAC T ; =
(14 : LT @ LOS[--ewhee e fad¥ i ++‘|’+ T
1 : : : : o P : : H |
: 1B -4 sadassslaaariaarill
: - T'vavaYYTvarTYYYY!]]]
0.95! 0.95%
=3 -2 -1 0 1 2 3 0V 5 10 15 20 25 30 35 40
track n track hits
[ N of reco track vs pT |
Entries 133002 Entries 494892
Mean 2.164 Mean 0.4293
Std Dev 6.079 Std Dev 1.004
. [ 10F & rrrrr T T 1
Entries 133002 Entries 494892
Mean 2.164 Mean 0.4293
Std Dev 6.079 Std Dev 1.004
B | R T
Entries 133002 Entries 510861
ean 2.164 Mean 0.4342
SteyDev 6.079 Std Dev 0.9858
Entries 133002 Entries 510238
Mean 2.164 Mean 0.4343
| Std Dev 6.079 | sStd Dev 0.9855
el
: -4
. e




	Contents
	Page 1


